WS eHE EAEN Mar 30, 2010
Fa I IE 120 Sr 4 JH I SR RRAE - =8 e 120 & - FTEEENE
EHFHMEREN PRy RELELE L MEFMWIELELARTESE B F
EBHLEERE - g BOBFUMD - Zalbith 30 SEE A EAE > H
s A0 43 SEAT AN TS B o BRI LR N« S EE R s RES  B
2l A B A5 [0 25 (0 {a] Bl A 58 BE B B A

BIER (20 points) + F& T (True) 3¢ F (False) - &85 2 40 « (FBHESRIEF KT
HEEEGH H L)

] Y
1. Suppose an = 0 for all . 1L 5 a4, converges, then 3 a,* also converges.
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5. Let M be a given positive integer. Then, > a, converges if and only if 3 a,

-7- converges. Le't /\/3} M n=N\ e
o/ )
%aﬂ o &i"’aa'l'..."‘ag-‘ 'f‘h?“a“
Sum of frnrte torms Byt Ant v Oua T TooltE

-v
Tlnu{, iﬁu A,_Mh, An Gohvwﬁef,

AJ
~ }Hah" g’;},;aﬂ é’on\/ﬂ‘lﬁl/&

6, et S=1-14+1—-1+1—.... Then =S =—-1+1-141—-14..=~1+8,

F 50 we have 8§ = %

I,(.-r) f =) w]=l*]=-

n=i

/"\ =£ #Sr-/
25"4 n=j l) SJ__,’._’I_
Ssz= =] +1=/
Sez/—7+1-1=0
%S—‘A/"O

SJ/J—-;: / b/N;f"E’ w P &%SM K/Té’ﬁ

- TPV R AP L

F 7. If lim a, =0, then > a’f CONVErges.

Thr=—r o

=

&MW%ample :
Let On: Jim = L Qn= 0

Hoﬂ&f&”’, hi__}' Qn_". z é néhh 0{7".‘3/}'3“ I‘:y I.h'tanaJ test.

L&'t. "FU‘)-‘ ;'TE/_Y > 0 . al.&rmsnag & CoAlimmewns b”x z2

axﬂnxol"‘ f@a MAV\ ) alw@rg%
(Vk-ﬂh . “-’_s?ﬂ(x)

Thee . Z, 5 doterges




n=1 =1

$1).¢ Thm! Absdie Convergence Loapltes &mverﬂ%m.
I]C I || oomvwg@g , "V{\Oﬁ 2ZAn cpn\/aﬂ%,

r— I-JC S ataesnfc am\/&vje, -bLem 5 | Al

o0 o0
-7— 8. If > ay does not converge, then Y |ay,| does not converge.

At . = .
9. If a, >0 and ——= < 1 for all n > 1, then 3. @, is convergent.
Uy n=l

—P Cwﬁfe/emwle :

Z.et an= /+ L ‘t}\eﬂ An+1 € An f”' all nz/

"

Se %tf‘/ k"’*vg,ﬁ&lﬁ!#o
. 20\, %2 &{Weljeh'[; Ly Dwﬂemce Test .

X cosnm

10.

=1 Tl

o
bl R
S:DICe g‘, =_I*‘=_"'a fq_"‘....

. é 1)~ L
And =l % a o{wmml Fasrt:i've_ gejuemce 12 L't.
Canvemges to O, 't'Le,n h_5.___'.'[—0"-,—5]- Iy agnwwg&‘b \)/
T -)Cer A!t\!rna‘u ge/rl“%.
| erbwiz Test g
Bw %\(—lf‘},‘\=%"% % chvergent Lvy P
(THEHE)

converges conditionally.

T

- serves Tost

3




YA (40 points) + B 5 4 o (AR FKFRIESRER—H L)

_ = S
1. Find the centroid of the top hall of the ellipse LS y2 =1,
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3. A particle travels along a cycloid. Its position at time ¢ is given by e(t) =
(# — sint, 1 ~ cost) for t > 0. Find the maximum speed of the particle.
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7. Find the area of the surfaces generated by revolving the curve x = cost, y =
2 +sint, 0 <t < 27 about the p—axis.
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1. (10 points) Determine if the given series converges or diverges.
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2. (10 points) a. Sketch the curve with the polar equation r = 1 — cos#.

b. Find the area of the region enclosed by r = 1 — cos 6.
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3. (10 points) Let Ty (z) be the nth Taylor polynomial of f(z) = Ina centered at
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6. (70 points) a. Find the radins of convergence of 5
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